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1
Introduction
This document is the summary of the following email discussion:

[AT115-e][223][R17 DCCA] Network-triggered SCG activation (Huawei)

Scope: 

· Discuss if we can combine solutions 1 (the UE performs BFD and RLM based on previously activated TCI states ("implicit configuration") while the SCG is deactivated) and 2 (the network uses information from L3 measurement reports) from R2-2108444. Attempt to clarify how each option works and what are their commonalities and differences. Should clarify how network knows UE has valid TA and correct TCI state.


Intended outcome: 

· Discussion summary in R2-2108865 (by email rapporteur).


Deadline for providing comments, for rapporteur inputs, conclusions and CR finalization:  

· Initial deadline (for company feedback):  2nd week Mon, UTC 1200 
2
Contact Information

The rapporteur encourages the delegates who provide input to provide their contact information in the below table:
	Company
	Contact: Name (E-mail)

	OPPO
	Shukun Wang(wangshukun@oppo.com)

	vivo
	wenjuan.pu@vivo.com

	LGE
	hassium.kim@lge.com

	CATT
	chandrika@catt.cn

	China Telecom
	Jincan Xin (xinjc@chinatelecom.cn)

	Futurewei
	Jialin Zou (jialinzou88@yahoo.com)

	Qualcomm
	Punyaslok Purkayastha (punyaslo@qti.qualcomm.com)

	NEC
	hisashi.futaki[at]nec.com

	
	

	
	


3
Discussion
RAN2 agreed to support RACH-less SCG activation. This requires that the UE has a valid TA and that the UE uses the correct TCI state (and BWP) for PDCCH/PDSCH reception.

3.1
Ensuring that the UE has a valid TAT

With respect to ensuring that the UE has a valid TA, two methods were considered:

1)
use the TAT associated with the PSCell, e.g. the TAT continues running when the SCG is switched from activated to deactivated state and the TA is considered valid as long as it is not expired.
2) the UE checks whether the RSRP of SSB of the PSCell changed more than a threshold, in order to know whether the UE has moved, which is what is under discussion for small data transmission in RRC_INACTIVE
Post from Apple:  The relevant agreement from SDT session from RAN2-115e is pasted below

Agreements:

1. If none of the SSBs’ RSRP is above the RSRP threshold of CG-SDT criteria in the type selection phase, UE should select RA-SDT if RA-SDT criteria is met
The method 2) was suggested by one company during the email discussion before the meeting, so it was not that much discussed. Some observations can be made on this method:

-
small data transmission is discussed for RRC_INACTIVE state, while the UE is in RRC_CONNECTED when the SCG is deactivated

-
the work on this method is not finished for small data transmission, different work would be needed for the deactivated SCG, and it requires significant discussions to see what to use or not
-
while the SCG is deactivated, there is still RRC signalling towards the MN and towards the SN via the MCG, including RRC reconfiguration, network-triggered SCG activation indication, L3 measurement report, which means for instance that:
-
the SN can receive L3 measurement reports with RSRP beam results for the PSCell, so the SN could determine that the UE has moved

-
when the network initiates RACH-less SCG activation, the network can use PDCCH to transmit a PDCCH order, either immediately or if it cannot receive a scheduled PUSCH transmission

The method 1) is used in RRC_CONNECTED, and since the network knows when the TA timer is started/restarted, the network knows whether it is expired or not.

Question 1: In Rel-17 for SCG activation, is it sufficient to use method 1) (using the TAT) for the UE and the network to know that the UE has a valid TA?
	Company
	Yes/No
	Comments

	Apple
	Sufficient, but additional comments/questions…
	We agree that NW can use the UE’s L3 measurements to determine if the UE’s TA is valid or not.

And using this logic, we actually really do not need TAT at all then…? If the NW wants the UE to RACH at SCG re-activation, UE does, and if the NW doesn’t (either because the NW determines from the L3 meas, that the UE has not moved away enough) or if it’s a small cell (for eg.,) the NW can determine that as long as the UE can measure and report the PSCell’s RS, then UEs TA cannot change by a large amount.
Then it would be completely upto the NW on UE’s RACH action and we do not have to specify additional UE actions with TAT and the expiry of TAT in SCG deactivated state….? Can ease the MAC spec (and partly RRC as well).

The only new requirement is that the UE needs to save the TA at the time of SCG deactivation to be re-used in RACH-less re-activation. 



	Samsung
	Yes
	As we discussed this issue several times, keeping TA timer running at SCG deactivation is the baseline.  

	Nokia
	Sufficient
	TAT expiry is sufficient. We don’t need to specify anything else about UE or NW behaviour. 

	Ericsson
	Yes
	We agree solution 1 is sufficient. 

Regarding solution 2 mentioned here, we think it actually corresponds to solution 4 from the online discussion, which we agreed not to support, so we don’t understand why it is mentioned here in the email discussion? As rapporteur points out, it is a solution for SDT in RRC_INACTIVE. It is unclear how it could be applied to maintaining TA in deactivated SCG in RRC_CONNECTED.

	Futurewei
	Yes
	Agree with method 1) is sufficient and the rapporteur’s point on the network could make the RACH or RACHless decision. L3 measurement on SCG is critical information to confirm that the previous configured TA is still valid. TAT is an indirect likelihood indicator.

	OPPO
	No
	If we introduce a timer to control TA validity and decide whether RACH procedure is necessary or not, we do not think a timer can decide the TA validity, i.e. the TA is valid when the timer is running. In TA maintain procedure, the network will decide to adjust the TA value according to uplink measurement and send delta TA to the UE if the network evaluate the change of TA. The main purpose of TA timer is to control UE whether to lose UL synchronization and also including TA validity. For SCG deactivation, the network cannot send TA command to the UE even if the network evaluates the TA change and furthermore it is also not clear where there is UL signal for the network to evaluate the TA change. So the timer is not enough to decide the TA validity.

	KDDI
	Yes
	

	Lenovo, Motorola Mobility
	Yes
	It seems sufficient to us too

	vivo
	Yes
	It’s sufficient to evaluate the validity of TA using TAT. Also agree with the rapporteur on the observations for method 2. RRM measurement reporting during SCG deactivation can be used by the network to evaluate the validity of TA. If invalid, the network can instruct the UE to perform RACH upon SCG activation, and this can be done by the network triggering PSCell mobility immediately (in which TAT will stop due to MAC reset) or by including the dedicated RACH resource in the SCG activation command. 

	ZTE
	Yes with comment
	We further checked the progress in SDT, for TA validation, the conclusion is to evaluate RSRP-change by UE (as rapporteur mentioned), so the main difference in SCG deactivation is that, we rely on network to evaluate the validity of TA based on the RSRP change reported in L3 measurement report.

To achieve this, network may configure periodical L3 measurement with a very small reporting interval. If companies are ok (no concern on power consumption or signalling overhead), we are fine.  

On the other hand, we tend to agree with Apple that TAT seems not useful any more. If it is a small cell, network knows TA is valid as long as UE is in the cell. If this is not a small cell, then we respect network to evaluate the validity of TA, so even if TAT does not expire, network may also determine that RACH is needed.

	LGE
	Sufficient, but 
	We think TA may be a straightforward condition to support RACH-less activation on SCG if majority company want to have a simple way.
However, considering multiple-beam operation scenarios, the selected beam’s quality on deactivated PSCell may get worse while SCG is deactivated. Thus we think beam quality is also able to be considered together with TA.

	CATT
	Yes
	We think the network can configure a suitable TAT to UE and the UE can assume the TA timer is valid until it expires. In addition, the network can get to know the mobility of the UE according to the RRM measurement for PSCell, and deduce the validity of the configured TAT. If the TAT is still running but the TA is not valid, the network can make smart decision to perform RACH-based SCG activation. Therefore, it is anyway sufficient to use the TAT.

	China Telecom
	Yes, comments
	Solution 1 can be considered as the baseline, but some enhancements may need to be considered. 

For instance, in case UE is stationary or with low mobility, TA can be considered valid before TAT expires. However, in case of high mobility, TA value may be changed, and the TAT cannot guarantee the TA validity.

	Qualcomm
	Yes
	It seems to us that method 1) is sufficient. There may be a corner case or two where there might be a mismatch. E.g., the network might determine that the TAT at the UE has not expired and send an RRC SCG activation message with RACH-less indication. However, by the time UE receives the RRC message the TAT may have expired. Therefore, it is better to let UE decide to perform RACH considering whether TAT has expired or not and network’s indication in SCG activation message. 

The advantage with method 2) seems to be that it can handle cases where a UE is moving. There are some concerns with method 2):

- As the rapporteur has mentioned, the work on this method is not finished for SDT and different work would be needed for the deactivated SCG. We may even need RAN1 involvement.

- It seems more frequent L3 reports will be triggered for a UE that moves fast, e.g., if a report is generated whenever change of RSRP of PSCell SSB exceeds threshold. This increases overall power consumption at the UE. 

Considering the uncertainties involved in method 2), we prefer that method 1) be used.

	NEC
	Yes
	Using TAT is sufficient. 

	
	
	


3.2

Ensuring that the UE uses the correct TCI state

According to RAN2 agreement in this meeting, he following two solutions to ensure that the UE can receive PDCCH successfully are to be discussed:

1)
while the SCG is deactivated, the UE performs BFD and RLM based on previously activated TCI states ("implicit configuration"). If beam/radio link failure was not detected and if the UE has a valid TA
, the UE uses these beams/TCI states to receive PDCCH at RACH-less SCG activation.

FFS: UE behaviour if beam/radio link failure is detected (e.g. report failure to the network and wait for reconfiguration, do nothing and initiate CBRA at SCG activation indication, other)

2)
if the UE has a valid TA, the network indicates the TCI state/BWP for PDCCH reception in the SCG activation indication (the network can choose it using information from L3 measurement reports).
The above descriptions were slightly clarified, as compared to the pre-meeting email discussion, following the discussions in this meeting.
If only 1) is used/supported:

-
the network indication for RACH-less SCG activation does not need to provide any TCI state or BWP
-
the UE must do BFD and RLM while the SCG is deactivated

If only 2) is supported:

-
the network indication for RACH-less SCG activation always includes TCI state and BWP for PDCCH reception (unless some signalling optimization is used, see the two options mentioned by Apple below)
-
the UE does not need to do BFD and RLF while in SCG deactivated state

Post from Apple: the NW does not always need to indicate TCI at SCG re-activation and the UE can assume the TCI config based on the RS that UE is asked to measure for L3 meas in deactivated SCG stage….?
· Either the UE assumes the same TCI config at re-activation if the NW does not provide this at re-activation
[Rapporteur] This is option 2 but the network can omit the TCI state to say "same as previously activated", i.e. this is a signalling optimization on top 2).
· Or, the NW can config the TCI config of the L3 RS as part of RRC config earlier (either at deactivation or ever earlier)
[Rapporteur] This is option 2 but the network configures a TCI state/PSCell SSB association at/before SCG deactivation and at SCG activation, the UE uses the TCI state associated to the best PSCell SSB as in the last measurement report to the SN, so there is no need to indicate the TCI state.
The question then is what the requirements are at the UE to consider ‘the TA is valid’. 
Question 2: Do companies agree with the above descriptions of solutions 1 and 2? Do companies have comments/questions on solutions 1 and 2?
	Company
	Yes/No
	Comments

	Apple 
	Agree with comments
	Our intention is make SCG deactivation as simple but practical as possible, and if this can be done with just the L3 meas (RRM) from the UE, then it’s our view to specify this.

In our view, other than some open items that needs to be resolved, we think the TA validity and RACH-less triggers can be done without solution-1 (UE performing RLM/BFD, where NW has to config additional resources through-out the deactivated state and to release/re-config if the UE moves away from the current PSCell)

Solution-2 where RACH-less actions determined by the NW (with or without L3 RRM reports) with explicit/implicit TCI info appears to be enough. 
We even see that there is no need for TAT maintenance at the UE, and the UE’s TA validity can be based on the NW’s re-activation message…if the NW asks for RACH-less, the UE assumes the TA is valid and starts with this. Anyway, UE cannot ‘re-select’ to another cell in SCG while in CONNECTED (but deactivated SCG mode) and is dependent on NW’s directions. 

	Samsung
	Yes
	For Option 2, we are not sure if it works in actual implementation. If it fails, it may require longer delay than SCG activation with random access. We think Option 1 would be the safer option if we really want to see the latency gain.
[Apple] We are trying to understand this more. We assume that by failure here, it means the UE has valid TCI, and is able to decode PDCCH, but the NW has trouble with UE’s uplink (due to invalid TA). If so, the rapporteur already proposed that the NW can do a PDCCH-order for RACH to correct this. Then the latency would be similar to SCG with random access?

	Nokia
	Disagree
	Firstly we did not agree to have solution 1 or 2. We only agreed not to have solution 3 and 4. 

Secondly why is the “successful PDCCH reception” discussed here at all. PDCCH is not received from deactivated SCG. 

UE may measure BFD and RLM based on appropriate configured reference symbols. As the RRC message is used to deactivate SCG NW may reconfigure appropriate RSes for the UE fro BFD and RLM (if those are agreed to be measured). 

FOR DEACTIVATION:
So easiest for BFD/RLM is to agree UE uses RSs NW configures. Nothing else is needed.

[Apple] Our concern is along with the extra burden of BFD/RLM at the UE, what would the UE do if there is a beam failure or RLM on the configured RS. We think Nokia also raised similar questions below. 

UE would do actions that it would do if the SCG was not deactivated, which are not essential. Pls see our comments below to Ericsson’s comments for the same question.
FOR ACTIVATION:
In case when RRC message is used for activation it can also indicate new RS/TCI states for the UE in the activation as well.



	Ericsson
	Yes
	We think solution 1 is required.

We agree with Samsung that it is unclear how solution 2 can work alone. Without BFD/RLM it is difficult for the network to determine the correct TCI state for the UE at all times. This is because even though RRM measurement report can provide input for TCI selection, the event triggers for RRM measurement report are such that this input may not be provided to the network in a timely manner. With currently defined events, beam failure may occur in the UE without it triggering a RRM measurement report. Relying only on RRM measurements probably means new events would need to be defined, increasing the standardisation effort compared to reusing BFD/RLM, or it could cause a lot of RRM measurements being triggered and corresponding signalling overhead. Therefore we think BFD/RLM is a much more efficient way to ensure UE only initiates RACH-less SCG activation if beam failure was not detected and TA timer is still running. In other cases the UE should resort to random access.

The additional power consumption for performing BFD/RLM as in solution 1) has been shown to be very small, see R2-2101871, UE behaviour in SCG deactivated state, Qualcomm, 3GPP TSG-RAN WG2 #113e, Electronic meeting, January 25th – February 5th, 2021.
[Apple] Is the intention that UE does BFD/RLM quite frequently compared to the RRM measurements, such that the UE would flag a beam failure earlier?  And still assume that the UE power consumption would be negligible..?

L3 already has the means to report beam measurements, and just as the moderator proposed above in having the NW trigger a PDCCH triggered RACH in case the TA UE uses is not quite correct, the NW can also start off with SSB-based (coarse beams) at SCG activation, request L1 reports on beams and quickly switch to refined beams using DCI/TCI-switch. In our view, UE doing RLM/BFD for prolonged periods of time at a rate quite frequent than the RRM, just to save a few slots of high speed data is over engineering at the cost of power-consumption. 

If the UE does RLM/BFD at the same rate as RRM (and likely on the same Ref signals), then it would be much simpler for the NW to base on L3 meas and start the SCG re-activation conservatively (if needed) than to define the UE RLM/BFD actions in SCG deactivated state. 

In case the UE moves away from the current PSCell, then NW would have to re-configure new RS for BFD/RLM as part of PSCell change, while using RRM might be simpler in such cases.


	Futurewei
	Yes
	Solution 1) Address the special case of beam or RLF failure at the activation, bad beam/PDCCH will not be used for activation and previous TCI is still valid. Solution 2) would be used for normal non-failure case with more flexibility to update the current TCI state.

	OPPO
	Yes with comments
	Solution 1) has limitation to use, because it will only work when TA is valid and no failure on beam.
Solution 2) has flexibility and can be used if TA is valid and no matter beam failure or not.
We also think we can decouple the TA validity and beam validity.

If we agree to use TA timer to evaluate the TA validity, the RACH ca be avoided only if TA is valid. The valid beam can rely on network indication.

	KDDI
	Agree
	Share the same view as Samsung.

	Lenovo, Motorola Mobility
	Yes
	Similar view as Samsung and Ericsson. UE has the best knowledge about TAT expiry, BFD, RLF etc. We should agree option 1) first before agreeing on option 2).

	vivo
	Partly, please see comments
	Basically, we think the network behaviour and UE behaviour should be decoupled. We understand the solution 2 is asking whether to support RRC-based TCI state activation in the SCG activation command, and this is somehow independent on whether the UE performs RLM/BFD. 

Besides, we suggest to firstly consider RLM, since SCG failure information procedure via MCG has been supported by the current spec while the BFR via MCG does not. We can left BFD as FFS. 

	ZTE
	Yes with comments
	As response to previous question, to evaluate the validity of TA, probably network needs to configure periodical L3 measurement reporting with a small reportInterval. In this case, the network may be able to determine the TCI state based on the beam results in L3 measurement report. However, this is not reliable because L3 MR is not timely. (We think that is why beam measurement mechanism was introduced in NR)
So we would prefer to have solution 1), so UE can estimate the DL beam by its own, and take action immediately when BFD failure/RLF happens.

	LGE
	Agree with comments
	We think solution 1) is simple. If there is no beam quality issue when SCG is reactivated, it means DL beams for PDCCH have still been good to transmission. In this case, the network doesn’t need to indicate explicit TCI for SCG activation.
For solution 2), it might be useful when active BWP is changed, i.e. active BWP isn’t the previous active BWP before entering SCG deactivation. However, the PDCCH TCI information may have already been configured by RRC signalling, so, we think the network also doesn’t need to indicate explicit TCI for SCG activation for this case. 


	CATT
	yes
	Solution 1) based on BFD/RLM, if beam failure or radio link failure is detected, the UE can report the information to the NW which can help the NW make decision on RACH based SCG activation. If beam failure and radio link failure is not detected by the UE, the UE can assume the current beam is valid i.e. the current TCI state is valid.

Solution 2) we wonder whether the NW can set the right TCI state based on the RRM measurement results.

	China Telecom
	Yes
	We think solution 1 should be supported as baseline.

For solution 2, we agree with Ericsson. Without BFD and RLM, the TCI state determined by the network may be invalid. 

	Qualcomm
	Yes
	In 1), as the rapporteur has discussed in Question 3, network may still provide TCI state or BWP for RACH-less SCG activation.

	NEC
	Yes, with comments
	If the UE anyway performs the BFD/RLM in deactivated SCG for any other purpose (i.e. not just for this RACH-less purpose), then we are fine with solution 1). However, so far, we do not see any other purpose, so we support solution 2) at this moment. It looks a burden for a UE which only needs in one (optional) sub-function of the feature. We are also worried about UE power consumption due to a frequent BFD/RLM for this purpose as Apple explained.  It would be good to investigate further on the feasibility of solution 2) before conclusion, which may need RAN4 help.

	
	
	


It was suggested to use a "combination of 1) and 2)". That could mean different things, e.g.:

a) the network configures (by RRC) the UE to perform either 1) or 2) (exclusive or) for RACH-less SCG activation.
b) the UE performs BFD and RLM while the SCG is deactivated. If beam/radio link failure was not detected and the UE has a valid TA, at RACH-less SCG activation, the UE uses:

-
the TCI state (and BWP) indicated in the SCG activation indication, if any

-
otherwise, the previously activated TCI states.

c) the UE performs BFD and RLM while the SCG is deactivated and reports beam/radio link failure to the SN if it occurs. If the UE has a valid TA, the UE can perform RACH-less SCG activation using:

-
the previously activated TCI states if BF/RLF was not reported by the UE

-
otherwise, the TCI state and BWP indicated in the SCG activation indication
d)
the UE performs BFD and RLM while the SCG is deactivated and reports beam/radio link failure to the SN if it occurs. If the UE has a valid TA, the UE can perform RACH-less SCG activation using:

-
the previously activated TCI states if BF/RLF was not reported by the UE and the network does not update the TCI state at the SCG activation 
-
otherwise, the TCI state and BWP indicated in the SCG activation indication

a) is not really a combination, it is just supporting both methods but only using one for each UE.

b) is solution 1 plus some additional flexibility for the network to also change the TCI state/BWP at SCG activation.

c) is solution 1 plus allowing solution 2 as fallback if BF/RLF occurs.

From this perspective, the above "combinations" are solution 1) plus some additional thing, so solution 1) is the starting point anyway.

Question 3: Do companies have comments/question on the above "combinations" of solution 1 or 2? Do companies see other potentially useful "combinations" of solution 1 and solution 2? Would companies support one of these combinations to be in Rel-17?

	Company
	Option or No
	Comments

	Apple
	(a) without solution-1
[Rapporteur] Your answer should be "no" (i.e. you want solution 2 only, not a combination of 1 and 2).
	As commented earlier, we think L3 meas reports from the UE can be used by the NW to determine TA validity, and then inform the UE about the TCI and whether to RACH or not. 
As long as RAN2 agrees that UE re-uses the TA from the SCG deactivated state (considers the TA as valid) if the NW wants RACH-less at SCG re-activation, and assume the TCI config of the RS the UE used for L3 RRM or get TCI configured explicitly at re-activation, we think (a) with solution-2 is simple and covers the most practical cases.

And we do not really then see the need for solution-1 with BFD/RLM.

Also, we think with the above, TAT handling is not needed by the UE in SCG deactivated state, the UE just remembers the TA it used when the SCG was deactivated. 



	Samsung
	(b)
	For a), it allows full flexibility but also increases the complexity of implementation, which is not preferred. 

For b), it would be the simplest way if combination approach is needed. However, there may be an issue if UE should prioritize the indicated TCI state over the current TCI state without beam failure given that UE’s beam failure detection would be more precise. 

For c), it implies that anyway UE should follow the network decision regardless of beam failure detection and it mandates the network should indicate TCI state if it receives beam failure report. Considering the inter-node delay, it may not work timely. If that’s the case, UE doesn’t have to perform BFD and RLM since it seems not to have any benefit of combination. 



	Nokia
	Comments – no need for solution 1 or 2 as described anywhere in the document
	Regarding options:

Why would NW need to configure UE to perform RACHless? Wouldn’t the need for RACH be determined based on TAT and no separate configuration is needed? This would be same as for any regular SR/RACH decision?

[Apple] we are not sure how a timer can decide if the TA is valid or not.  Legacy TAT is in RRC_CONNECTED mode where there is constant feedback on the TA by the NW and the timer is a watch-dog for this. In SCG deactivated state, there is no UL Tx and no DL TA correction.

The UE is mobile and a timer alone cannot determine if the UE’s TA is changed or not.
Then in the description it is said that after BFD UE perfromrs RACHless access? Is this mistake or really the intention? SHouldn’t UE perform RACH if UE has no beams? And Why would UE report BFD/RLM to the NW when SCG is deactivated – what would NW do with that information when there is no need to activate the SCG? 
[Apple] this is also one of the reasons why we do not want RLM/BFD during SCG deactivated state. It requires specifying actions at the UE in SCG deactivated state, which are not essential.

	Ericsson
	Yes, (b)
	We think (b) and (c) are both feasible, but the baseline should be (b) where UE uses previously activated TCI states. In addition, since we agreed the network can make changes in the SCG configuration while it is deactivated, other flavours of (b) and (c) could also be supported, but may require additional signalling fields to be specified for indicating TCI states.

We agree with Nokia that unless the network orders the UE to perform random access by including reconfigurationWithSync when activating the SCG, the UE shall determine whether to SR or RA depending on TAT running and BFD/RLM detected. 
[Apple] Pls see our comments above on how TAT can guarantee that the UE’s location from the PSCell hasn’t changed enough to consider the TA is valid, when there is no UE Tx and no correspondence from the NW on TA adjustments.  Also pls see our comments on the use of BFD/RLM above.


	Futurewei
	(d)
	We see 1) and 2) could complement with each other. Option (a) is less flexible. (b) didn’t include what to do if beam or RLF is detected. (c) update TCI state only when failure is detected. We prefer (d) which is (b) + failure handling.
Further clarification on d): in fact, option b) allows BFD and RLM. The legacy behaviour of BFD & RLM is: upon the UE detected the failure, the UE report to the network. We assume failure reporting is part of option b). Unless the intention of b) is performing BFD/RLM without reporting failure. Then it is a new behaviour which introduce more complexity. In my view, with the assumption of maintaining the legacy BFD/RLM, option d) is just a clarification of option b). There is no delay concern on the failure report since it is normally happened before the activation occurs.
As raised by CATT, if the race condition occurs that at the time activation command is received, the UE also detected beam failure or RLF, we should have some further discussion. If RLF is detected, it means the current SCG is not usable, there is no reason for the UE to initiate the random access to the SCG. If the default beam failure is detected, it is moot whether the random access should be initiated by the UE since the delay introduced by random access maybe more than the delay of that the UE reports the failure to MN and MN configures the UE to perform RACH-less access to the SCG. Therefore, if UE detected the failure, it just reports and waits for network further instruction seems a simpler and better solution.

	OPPO
	(b)
	(b) is better.

	KDDI
	b
	B is simple

	Lenovo, Motorola Mobility
	b)
	Besides, we think it could be upon NW’s instruction whether UE needs to be prepared for RACH less activation (e.g., do beam/link monitoring and keep TAT running) when entering SCG deactivation. If UE is instructed to do so, then b) is the simplest way. If UE is instructed not to do so, UE will do RACH upon SCG activation. 

	vivo
	(b)
	For (a), it is unclear what the benefit of it is. For c) and d), If S-RLF occurs, upon the initiation of SCG failure information, the TAT will be stopped according to the current procedure. So the UE will perform RACH upon SCG activation in this case, and the UE can obtain DL beam during RACH. So TCI state indication via SCG activation command is not needed.

	ZTE
	b)
	b) is simpler, and we understand it means RACH will be performed if BFD failure or RLF is detected. 

But we need to clarify what “if UE has a valid TA” means? According to the discussion in Q1, “TAT is running” does not always mean TA is valid. UE still respect to the “RACH-less” instruction from network. 

	LGE
	(b)
	We still think there is no problem to activate SCG without indicating the TCI state. However, the UE should use the TCI information according to the legacy principle if the network explicitly configured it for SCG activation.

	CATT
	b) with comment
	We think b) is feasible and provides the flexibility for network configuration. In addition, when the BF or RLF occurs, the UE should report the failure to the NW via MCG. We can assume that the NW will command the UE to perform RACH based SCG activation when the NW receives the SCG BF/RLF report. A corner case is that before receiving the SCG BF/RLF report from the UE, the NW has sent the SCG activation command to UE after the BF/RLF occurs without the RACH indication, for this case the UE should perform RACH at SCG activation.

	China Telecom
	(b)
	We think (b) can be considered as the baseline.   

For (a), it will increase complexity.

For (c), it also considers that when beam/radio link failure occurs, the UE should report to the network and indicate the network to update the TCI state. It will introduce signalling overhead and extra delay.

For (d), it is a complement to (c).

	Qualcomm
	Prefer an Option d) (see further comments)
	We prefer an option d) discussed in our paper R2-2107423. d) is a variant of option c) above.

d): the UE performs BFD and RLM while the SCG is deactivated and reports beam/radio link failure to the SN if it occurs. In response, SN may reconfigure UE (using RRC) with updated beams, RLM/BFD RSs, TCI states. UE resumes RLM/BFD with updated configuration. If the UE has a valid TA, the UE can perform RACH-less SCG activation using:

-
the previously activated TCI states provided in the last reconfiguration sent by network and if BF/RLF was not reported by the UE since the last reconfiguration sent by network

-
otherwise, the TCI state and BWP indicated in the SCG activation indication

The advantage with d) is that it is more likely for UE to have a usable beam at SCG activation, compared to b) and c). It is useful especially when time spent in deactivated state is somewhat long. Even if TAT expires, if UE has a usable beam at SCG activation, it can perform CFRA or CBRA using it, instead of performing RACH as in initial access which should reduce activation delay.   

A few comments/questions:

On Option a) we have a question: How does network decide whether to configure UE with 1) or 2)?

We also prefer that if UE detects BF/RLF while SCG is deactivated, it reports it to the SN as in Option c) and the Option d) we have mentioned above. The report helps the network to determine the correct TCI state and BWP to provide to the UE, e.g., in SCG activation message. 

We think L3 measurements and reporting are not reliable enough to determine whether UE has a usable beam upon activation, which is a condition for RACH-less activation. RLM and BFD have been devised for this purpose and hence we think UE should perform RLM and BFD while in deactivated SCG.  

	NEC
	No
	if solution 1) is agreed as baseline, b) may be considered.

	
	
	


4
Conclusion
�We understand this condition is redundant because “at RACH-less SCG activation” means that.


�If S-RLM is supported, the current SCG failure information procedure will involve stopping TAT due to MAC reset, so anyway the UE will go RACH upon SCG activation. And whether to perform CBRA or CFRA is up to network. 





We suggest not to consider BFD here since it is still unclear how BFR is performed during SCG deactivation.








�It would be a more common scenario that no failure is detected but the network still want to update the TCI state.





